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- (5 x 20 = 100)
1. (a) Draw aninvolute of a circlelof 40fmm/diameter. Also ; draw a normal and

a tangent to it at a pointil00 mm fFom the center of the circle.

| O
(b) ' Draw the following Yiews of the machine element shown in fig.1 :

(i) - Top view, ' ' ' (1)
(i) Frontviews® - = | | (7
(iii) Right side view. - (6)

| Fig. 1.
. (All dimensions are in mm)




(a)

(b)

(a)

(b)

(a)

(b

(a)

(b)

The top view of a line AB makes an angle of 30° with the horizontal and
has a length of 100 mm. The end B is in the HP and A is in the VP and
65 mm above the HP. Draw the projections of the line and find its true
length and true inclinations with the reference planes. Also show its
traces. : '

Or.

A pentagon of side 30 mm rests on the ground on one of its corners with

the sides containing the corner being equally inclined to the ground. The
side opposite to the corner on which it rest is inclined at 30° to the VP
and is parallel to the HP. The surface of the pentagon makes 50° with the
ground. Draw the top and front views of the pentagon.

A hexagonal pyramid side of base 25 mm, axis 50 mm longAigg, with-one

‘of its triangular faces on the HP and its axis is parallel to the VP. Draw
its projections. '

Or

A cone of base diameter 50 mm and altitude 6@ymm rest on its base on
the HP. It is cut by a plane perpendiculatto the VRjand parallel to one of '
the extreme generators, 10 mm away fromp-t, Draw the sectional top view
and the true shape of the section. '

A square pyramid of base side 30 mnr'and axis 60 mm rest on its base on
the ground with one of the sidegyof the'base inclined at 30° to the VP.
A string is wound round the surfaces of the pyramid starting from left
extreme point on the bade, andgénding at the same point.  Find the
shortest length of the string reguited. Also trace the path of the string in
the front and top views, ' ‘

Or

A cylinder of 50,mm difimeter and axis 65 mm long is standing vertically
on its base on HP. It is penetrated by a square prism of 25 mm side and
90 mm léhgth, such that the faces are equally inclined to HP. The axes of
the salids intersect at right angles. Draw the development of the lateral
surfaces of the intersection of the prism and cylinder.

A ¢ylinder of 60 mm diameter and 70 mm height stands on HP. A section
plane perpendicular to VP and inclined at an angle of 50° to HP cuts the
eylinder and passes through a point on the axis at a height of 50 mm
above the base. Draw the isometric projection of the truncated portion of
the cylinder, when the cut surface is clearly visible to the observer.

Or

A hexagonal prism of base side 20 mm and axis length 50 mm rests on
the ground plane on one of its rectangular faces with its axis inclined at
30° to the picture plane. A corner of the base is touching the PP. The
station point is 60 mm in front of the PP and lies in a central plane that

bisects the axis. The station point is 40 mm above the ground plane.
 Draw the perspective view of the prism.
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